RADIATOR+ENGINE BAY PROTECTION INSTALLATION MANUAL

MONTAGEANLEITUNG FUR RADIATORSCHUTZ+MOTORSCHUTZ

N

Underbody Armour for:
Isuzu D-Max (2021-)

2333.9111.1.6

WWW.RIVAL4X4.COM



RIVAL

EN Regular fasteners
DE Originale montageteile

EN Regular fasteners
DE Originale montageteile

EN Screw a several turns
DE Far wenigen Umdrehungen befestigen

EN Loosen bolts
DE Bolzen lockern

EN Movement Arrow
DE Bewegungsrichtung

EN Location/Position Arrow
DE Amordrung/Positionsrichtung

EN Screw Arrow
DE Drehungsrichtung



RIVAL

EN Ratchet
DE Ratsche

1

S

M10x1.25x35

X2

e

M10x30

x2

X2




RIVAL

— L
X

\ | T —/
=
e
YIRS ¢
[
-
]
g"
T\
|
L
)




RIVVAL

5\\\0\\

~__ | WITH ADBLUE

M10
O

D

2n -‘é&
=47 Nm

o,
’4

o] olgs

1y 2




- [ WITHOUT ADBLUE
D NSEDC:

—

—

Q@ OOOO0OO0o &
‘N\

.@ OCOOOO0o o

ﬁ

|

— 2\
EEI=
: I
\ [
C

(=1 )

)
U
[

\

\

%‘

\

;I g K M10=47 Nm
i 1l
ke ik
Tl | O :
— O
| 0 of |y
—_ O
\ ey} | ©
J a
4

(N

|

73
;




RIVAL

&Y Mounting requirements:

Underbody Armour is developed individual for each car model.

Underbody Armour must be mounted according to installation manual by an authorized car dealer or by a
special car repair stations.

Underbody Armour is to be installed to original points and holes of the power units of the car.

Installed properly Underbody Armour doesn't scrape another parts and assembly of the car.

Montageanleitung:

Der Unterfahr-/Unterbodenschutz wurde fir jedes Fahrzeug individuell entwickelt. Der Unterfahr-
/Unterbodenschutz ist gemal Installationsanleitung des Herstellers bei einer autorisierten Werkstatt
oder Autohandler zu montieren. Der Unterbodenschutz wird an den originalen Befestigungsbohrungen
der Karosserie montiert. Bei Montage gemal Herstellervorgaben werden keine anderen Karosserieteile
beschéadigt oderin Mitleidenschaft gezogen.

&Y Working requirements:

Underbody Armour is designed for use and drive of the vehicle in conditions considere by the car
manufacture.

While driving the carat speed, cases of collisions with large obstacles and objects need to be excluded.

In the case of a collision with an obstacle Underbody Armour and the vehicle must be inspected in a
specialized car repair stations for damage of the components and assemblies and suitability for further
use.

Herstellervorgaben:

Der Unterfahr-/Unterbodenschutz ist gemaf den Vorgaben des Fahrzeugherstellers zu verwenden. Das
Befahren und ZusammenstoR3en von/mit Hindernissen und gro3en Objekten ist zu unterlassen. Nach
erfolgtem Zusammenstol® muss die Funktionsfahigkeit des Fahrzeuges und/oder entstandene Méngel
von einer autorisierten Werkstatt tiberpriift werden.



RIVAL

&Y Warranty:
Warranty period - 12 months.

Gewihr:
Die Dauer der Gewabhrleistung betragt 12 Monate.

&Y Warranty terms and conditions:

Underbody Armour is installed on the car, with good condition of the body and the assembly parts (the car,
thatwas notinvolved in the accident).

Absence of mechanical damages of the Underbody Armour caused by a head-on crush;

Compliance with all installation requirements;

Absence of powder coating damages of the Underbody Armour;

The manufacturer is not liable for any damage caused to the vehicle, the life and health of people in the
event of breach of the installation and using of Underbody Armour. The manufacturer has the right to
change the design of Underbody Armour.

Gewibhrleistung:

Der Unterfahr-/Unterbodenschutz muss ohne Beschadigung und/oder Anderungen an Karosserie
montiert worden sein. Es diirfen keine Schaden durch die Kollision mit Hindernissen/Gegenstéanden
entstanden sein. Die Vorgaben der Montageanleitung miissen exakt eingehalten werden. Es dirfen
keine Schaden/Kratzspuren an der Pulverbeschichtung vorhanden sein. Der Hersteller ibernimmt keine
Haftung fir Fahrzeugschdden jedweder Art und gesundheitliche Gefédhrdungen durch fehlerhafte
Montage und Nutzung des Unterbodenschutzes. Der Hersteller behalt sich vor, Design und
Konstruktionsdnderungen des Unterbodenschutzes zu &ndern.

All products are certified
Alle Produkte sind zertifiziert

% “\zatlon fD

SRR
ISO - ISO
NSz

9001 TS 16949

/76

(7

e\>‘)®
/122\pY

\oternatje,
0

Uy



RIVVAL

GEARBOX PROTECTION INSTALLATION MANUAL

Underbody Armour for:
Isuzu D-Max (2021-)

2333.9112.1.6

WWW.RIVAL4X4.COM



RIVAL

EN Regular fasteners
DE Originale montageteile

EN Regular fasteners
DE Originale montageteile

EN Screw a several turns
DE Far wenigen Umdrehungen befestigen

EN Loosen bolts
DE Bolzen lockern

EN Movement Arrow
DE Bewegungsrichtung

EN Location/Position Arrow
DE Amordrung/Positionsrichtung

EN Screw Arrow
DE Drehungsrichtung



RIVAL

s %2 | M8x50 x2 | @8 X2 X2




RIVAL

A\

A\




RIVAL

o o)
o
0'6&
» @’
=24 Nm

M8




RIVAL

&Y Mounting requirements:

Underbody Armour is developed individual for each car model.

Underbody Armour must be mounted according to installation manual by an authorized car dealer or by a
special car repair stations.

Underbody Armour is to be installed to original points and holes of the power units of the car.

Installed properly Underbody Armour doesn't scrape another parts and assembly of the car.

Montageanleitung:

Der Unterfahr-/Unterbodenschutz wurde fir jedes Fahrzeug individuell entwickelt. Der Unterfahr-
/Unterbodenschutz ist gemal Installationsanleitung des Herstellers bei einer autorisierten Werkstatt
oder Autohandler zu montieren. Der Unterbodenschutz wird an den originalen Befestigungsbohrungen
der Karosserie montiert. Bei Montage gemal Herstellervorgaben werden keine anderen Karosserieteile
beschéadigt oderin Mitleidenschaft gezogen.

&Y Working requirements:

Underbody Armour is designed for use and drive of the vehicle in conditions considere by the car
manufacture.

While driving the carat speed, cases of collisions with large obstacles and objects need to be excluded.

In the case of a collision with an obstacle Underbody Armour and the vehicle must be inspected in a
specialized car repair stations for damage of the components and assemblies and suitability for further
use.

Herstellervorgaben:

Der Unterfahr-/Unterbodenschutz ist gemaf den Vorgaben des Fahrzeugherstellers zu verwenden. Das
Befahren und ZusammenstoRen von/mit Hindernissen und gro3en Objekten ist zu unterlassen. Nach
erfolgtem Zusammenstol? muss die Funktionsfahigkeit des Fahrzeuges und/oder entstandene Méngel
von einer autorisierten Werkstatt tiberpriift werden.



RIVAL

&Y Warranty:
Warranty period - 12 months.

Gewihr:
Die Dauer der Gewabhrleistung betragt 12 Monate.

&Y Warranty terms and conditions:

Underbody Armour is installed on the car, with good condition of the body and the assembly parts (the car,
thatwas notinvolved in the accident).

Absence of mechanical damages of the Underbody Armour caused by a head-on crush;

Compliance with all installation requirements;

Absence of powder coating damages of the Underbody Armour;

The manufacturer is not liable for any damage caused to the vehicle, the life and health of people in the
event of breach of the installation and using of Underbody Armour. The manufacturer has the right to
change the design of Underbody Armour.

Gewibhrleistung:

Der Unterfahr-/Unterbodenschutz muss ohne Beschadigung und/oder Anderungen an Karosserie
montiert worden sein. Es diirfen keine Schaden durch die Kollision mit Hindernissen/Gegenstéanden
entstanden sein. Die Vorgaben der Montageanleitung miissen exakt eingehalten werden. Es dirfen
keine Schaden/Kratzspuren an der Pulverbeschichtung vorhanden sein. Der Hersteller ibernimmt keine
Haftung fir Fahrzeugschdden jedweder Art und gesundheitliche Gefédhrdungen durch fehlerhafte
Montage und Nutzung des Unterbodenschutzes. Der Hersteller behalt sich vor, Design und
Konstruktionsdnderungen des Unterbodenschutzes zu &ndern.

All products are certified
Alle Produkte sind zertifiziert

% “\zatlon fD

SRR
ISO - ISO
NSz

9001 TS 16949

/76

(7

e\>‘)®
/122\pY

\oternatje,
0

Uy



RIVVAL

TRANSFER CASE PROTECTION INSTALLATION MANUAL

e\

&

Underbody Armour for:
Isuzu D-Max (2021-)

2333.9113.1.6

WWW.RIVAL4X4.COM



RIVAL

EN Regular fasteners
DE Originale montageteile

EN Regular fasteners
DE Originale montageteile

EN Screw a several turns
DE Far wenigen Umdrehungen befestigen

EN Loosen bolts
DE Bolzen lockern

EN Movement Arrow
DE Bewegungsrichtung

EN Location/Position Arrow
DE Amordrung/Positionsrichtung

EN Screw Arrow
DE Drehungsrichtung



RIVAL

<

EN Ratchet
DE Ratsche

N\

EN Wrench
DE Schraubenschliissel

17 mm

1 Q 2 » 3 4 S 5 6
M10x40 x3 | M10x60 x2 | 210 X7 X2 x2 | M10 x3
7 | :
<
<
M10 X2




RIVAL




RIVAL

2333.9113.1.6 + 2333.9116.1.6




RIVAL

o

M10=47 Nm




RIVAL

&Y Mounting requirements:

Underbody Armour is developed individual for each car model.

Underbody Armour must be mounted according to installation manual by an authorized car dealer or by a
special car repair stations.

Underbody Armour is to be installed to original points and holes of the power units of the car.

Installed properly Underbody Armour doesn't scrape another parts and assembly of the car.

Montageanleitung:

Der Unterfahr-/Unterbodenschutz wurde fir jedes Fahrzeug individuell entwickelt. Der Unterfahr-
/Unterbodenschutz ist gemal Installationsanleitung des Herstellers bei einer autorisierten Werkstatt
oder Autohandler zu montieren. Der Unterbodenschutz wird an den originalen Befestigungsbohrungen
der Karosserie montiert. Bei Montage gemal Herstellervorgaben werden keine anderen Karosserieteile
beschéadigt oderin Mitleidenschaft gezogen.

&Y Working requirements:

Underbody Armour is designed for use and drive of the vehicle in conditions considere by the car
manufacture.

While driving the carat speed, cases of collisions with large obstacles and objects need to be excluded.

In the case of a collision with an obstacle Underbody Armour and the vehicle must be inspected in a
specialized car repair stations for damage of the components and assemblies and suitability for further
use.

Herstellervorgaben:

Der Unterfahr-/Unterbodenschutz ist gemaf den Vorgaben des Fahrzeugherstellers zu verwenden. Das
Befahren und ZusammenstoRen von/mit Hindernissen und groRen Objekten ist zu unterlassen. Nach
erfolgtem Zusammenstol® muss die Funktionsfahigkeit des Fahrzeuges und/oder entstandene Méngel
von einer autorisierten Werkstatt tiberpriift werden.



RIVAL

&Y Warranty:
Warranty period - 12 months.

Gewihr:
Die Dauer der Gewabhrleistung betragt 12 Monate.

&Y Warranty terms and conditions:

Underbody Armour is installed on the car, with good condition of the body and the assembly parts (the car,
thatwas notinvolved in the accident).

Absence of mechanical damages of the Underbody Armour caused by a head-on crush;

Compliance with all installation requirements;

Absence of powder coating damages of the Underbody Armour;

The manufacturer is not liable for any damage caused to the vehicle, the life and health of people in the
event of breach of the installation and using of Underbody Armour. The manufacturer has the right to
change the design of Underbody Armour.

Gewibhrleistung:

Der Unterfahr-/Unterbodenschutz muss ohne Beschadigung und/oder Anderungen an Karosserie
montiert worden sein. Es diirfen keine Schaden durch die Kollision mit Hindernissen/Gegenstéanden
entstanden sein. Die Vorgaben der Montageanleitung miissen exakt eingehalten werden. Es dirfen
keine Schaden/Kratzspuren an der Pulverbeschichtung vorhanden sein. Der Hersteller ibernimmt keine
Haftung fir Fahrzeugschdden jedweder Art und gesundheitliche Gefédhrdungen durch fehlerhafte
Montage und Nutzung des Unterbodenschutzes. Der Hersteller behalt sich vor, Design und
Konstruktionsdnderungen des Unterbodenschutzes zu &ndern.

All products are certified
Alle Produkte sind zertifiziert

% “\zatlon fD

SRR
ISO - ISO
NSz

9001 TS 16949

/76

(7

e\>‘)®
/122\pY

\oternatje,
0

Uy



RIVVAL

CONTROL ARMS PROTECTION INSTALLATION MANUAL

Underbody Armour for:
Isuzu D-Max (2021-)

2333.9114.1.6

WWW.RIVAL4X4.COM



RIVAL

EN Regular fasteners
DE Originale montageteile

EN Regular fasteners
DE Originale montageteile

EN Screw a several turns
DE Far wenigen Umdrehungen befestigen

EN Loosen bolts
DE Bolzen lockern

EN Movement Arrow
DE Bewegungsrichtung

EN Location/Position Arrow
DE Amordrung/Positionsrichtung

EN Screw Arrow
DE Drehungsrichtung



RIVAL

EN Ratchet
DE Rawsche S-13

N\

EN Wrench

DE Schraubenschliisse

13 mm

M8x30

x4

M8x80

x2

x8 | M8

6] )
2

X2




d ——T
LEFT = RIGHT




RIVAL

&Y Mounting requirements:

Underbody Armour is developed individual for each car model.

Underbody Armour must be mounted according to installation manual by an authorized car dealer or by a
special car repair stations.

Underbody Armour is to be installed to original points and holes of the power units of the car.

Installed properly Underbody Armour doesn't scrape another parts and assembly of the car.

Montageanleitung:

Der Unterfahr-/Unterbodenschutz wurde fir jedes Fahrzeug individuell entwickelt. Der Unterfahr-
/Unterbodenschutz ist gemal Installationsanleitung des Herstellers bei einer autorisierten Werkstatt
oder Autohandler zu montieren. Der Unterbodenschutz wird an den originalen Befestigungsbohrungen
der Karosserie montiert. Bei Montage gemal Herstellervorgaben werden keine anderen Karosserieteile
beschéadigt oderin Mitleidenschaft gezogen.

&Y Working requirements:

Underbody Armour is designed for use and drive of the vehicle in conditions considere by the car
manufacture.

While driving the carat speed, cases of collisions with large obstacles and objects need to be excluded.

In the case of a collision with an obstacle Underbody Armour and the vehicle must be inspected in a
specialized car repair stations for damage of the components and assemblies and suitability for further
use.

Herstellervorgaben:

Der Unterfahr-/Unterbodenschutz ist gemaf den Vorgaben des Fahrzeugherstellers zu verwenden. Das
Befahren und ZusammenstoRen von/mit Hindernissen und gro3en Objekten ist zu unterlassen. Nach
erfolgtem Zusammenstol? muss die Funktionsfahigkeit des Fahrzeuges und/oder entstandene Méngel
von einer autorisierten Werkstatt tiberpriift werden.



RIVAL

&Y Warranty:
Warranty period - 12 months.

Gewihr:
Die Dauer der Gewabhrleistung betragt 12 Monate.

&Y Warranty terms and conditions:

Underbody Armour is installed on the car, with good condition of the body and the assembly parts (the car,
thatwas notinvolved in the accident).

Absence of mechanical damages of the Underbody Armour caused by a head-on crush;

Compliance with all installation requirements;

Absence of powder coating damages of the Underbody Armour;

The manufacturer is not liable for any damage caused to the vehicle, the life and health of people in the
event of breach of the installation and using of Underbody Armour. The manufacturer has the right to
change the design of Underbody Armour.

Gewihrleistung:

Der Unterfahr-/Unterbodenschutz muss ohne Beschadigung und/oder Anderungen an Karosserie
montiert worden sein. Es diirfen keine Schaden durch die Kollision mit Hindernissen/Gegenstéanden
entstanden sein. Die Vorgaben der Montageanleitung miissen exakt eingehalten werden. Es dirfen
keine Schaden/Kratzspuren an der Pulverbeschichtung vorhanden sein. Der Hersteller ibernimmt keine
Haftung fur Fahrzeugschédden jedweder Art und gesundheitliche Gefédhrdungen durch fehlerhafte
Montage und Nutzung des Unterbodenschutzes. Der Hersteller behalt sich vor, Design und
Konstruktionsdnderungen des Unterbodenschutzes zu &ndern.

All products are certified
Alle Produkte sind zertifiziert

% anization 7,

RN
ISO - ISO
NSz

9001 TS 16949

/76

(7

e\>‘)®
/122\pY

\nternatp,
0

Uy



E FUEL TANKS PROTECTION INSTALLATION MANUAL

E MONTAGEANLEITUNG FUR TANKSCHUTZ

Underbody Armour for:
Isuzu D-Max (2021-)

2333.9116.1.6

WWW.RIVAL4X4.COM



RIVAL

EN Regular fasteners
DE Originale montageteile
RU LWTaTHbIN Kpenex

EN Regular fasteners
DE Originale montageteile
RU LWTaTHbIN Kpenex

EN Screw a several turns
DE Fir wenigen Umdrehungen befestigen
RU BkpyTutb Ha HeCckonbko 060poToB

EN Loosen bolts
DE Bolzen lockern
RU BbIkpyTuTb Ha HECKONBbKO 0B0pPOTOB

EN Movement Arrow
DE Bewegungsrichtung
RU [BwkeHne

EN Location/Position Arrow
DE Amordrung/Positionsrichtung
RU Pacnonoxenune

EN Screw Arrow
DE Drehungsrichtung
RU lMosopot



RIVAL

<

EN Ratchet
DE Ratsche
RU Tpetwértka

x1

M10x30

B

M10x80













RIVVAL

4.

e

57

48




RIVAL

U U 4

_12333.9113.1.6

47 Nm

M10=

//

2333.9113.1.6 + 2333.9116.1.6

=
/

[12333.9113.1.6 | —

(70

&,

N

1

Y




RIVAL

&Y Mounting requirements:

Underbody Armour is developed individual for each car model.

Underbody Armour must be mounted according to installation manual by an authorized car dealer or by a
special car repair stations.

Underbody Armour is to be installed to original points and holes of the power units of the car.

Installed properly Underbody Armour doesn't scrape another parts and assembly of the car.

Montageanleitung:

Der Unterfahr-/Unterbodenschutz wurde fiir jedes Fahrzeug individuell entwickelt. Der Unterfahr-
/Unterbodenschutz ist gemal Installationsanleitung des Herstellers bei einer autorisierten Werkstatt
oder Autohandler zu montieren. Der Unterbodenschutz wird an den originalen Befestigungsbohrungen
der Karosserie montiert. Bei Montage gemal Herstellervorgaben werden keine anderen Karosserieteile
beschadigt oderin Mitleidenschaft gezogen.

®Y YcTaHOBKa:

3awmTa paspabarbiBaeTca HAMBMAYANbHO Ha KaXkabli aBTOMOOUNb.

OHa gomkHa yctaHaBnNMBaTbCA B COOTBETCTBUM C MHCTPYKUMEN U3FOTOBUTENS Cheunannu3mpoBaHHbIM
annepom unu Ha ceptuunumpoBaHHbix CTO.

3awmra KpenuTca K LITaTHbIM OTBEPCTMAM CUINOBbLIX 3NIEMEHTOB Ky30Ba.

Mpn npaBMNbHOM yCTaHOBKE 3alUMTa He JOMMKHA KacaTbCA y3r0B W arperatoB asBToMobuns.

&Y Working requirements:

Underbody Armour is designed for use and drive of the vehicle in conditions considere by the car
manufacture.

While driving the carat speed, cases of collisions with large obstacles and objects need to be excluded.

In the case of a collision with an obstacle Underbody Armour and the vehicle must be inspected in a
specialized car repair stations for damage of the components and assemblies and suitability for further
use.

Herstellervorgaben:

Der Unterfahr-/Unterbodenschutz ist gemaR den Vorgaben des Fahrzeugherstellers zu verwenden. Das
Befahren und ZusammenstoRen von/mit Hindernissen und groRen Objekten ist zu unterlassen. Nach
erfolgtem Zusammenstol® muss die Funktionsfahigkeit des Fahrzeuges und/oder entstandene Méngel
von einer autorisierten Werkstatt tiberprift werden.

Ycnoswus akcnnyaTtauuum:

3awmTta npegHasHadeHa Ans 3Kcnnyataumm B YCNOBMSX NPeayCMOTPEHHbIX Npou3BOAUTENEM
aBTomMobuns.

Mpun akcnnyataunm OOmMKHbI ObITb UCKMOYEHBbI CyYan Hae3ga Ha KpynHble NPenaTtCcTBUS U NpeaMeTbl
npw ABMXEHUM aBTOMOBUNA Ha CKOPOCTW.

B cnyyae Haesga Ha npenaTcTBue HeobxoguMmo ybeauTbCca B OTCYTCTBUMM MOBPEXAEHUM Y3MOB U
arperaToB aBTOMOGWUNA M NPUTOAHOCTM AanbHENLWeN 3KCnnyaTaunmn 3aWwmnTsl Ha cneynann3npoBaHHOM
CTO.



RIVAL

&Y Warranty:
Warranty period - 12 months.

Gewihr:
Die Dauer der Gewabhrleistung betragt 12 Monate.

FapaHTua:
[apaHTUNHLIN CPOK AKCNnyaTaumm - 12 mecsues.

&Y Warranty terms and conditions:

Underbody Armour is installed on the car, with good condition of the body and the assembly parts (the car,
thatwas not involved in the accident).

Absence of mechanical damages of the Underbody Armour caused by a head-on crush;

Compliance with all installation requirements;

Absence of powder coating damages of the Underbody Armour;

The manufacturer is not liable for any damage caused to the vehicle, the life and health of people in the
event of breach of the installation and using of Underbody Armour. The manufacturer has the right to
change the design of Underbody Armour.

Gewihrleistung:

Der Unterfahr-/Unterbodenschutz muss ohne Beschadigung und/oder Anderungen an Karosserie
montiert worden sein. Es dirfen keine Schaden durch die Kollision mit Hindernissen/Gegenstanden
entstanden sein. Die Vorgaben der Montageanleitung miissen exakt eingehalten werden. Es dirfen
keine Schaden/Kratzspuren an der Pulverbeschichtung vorhanden sein. Der Hersteller ibernimmt keine
Haftung fir Fahrzeugschdden jedweder Art und gesundheitliche Gefédhrdungen durch fehlerhafte
Montage und Nutzung des Unterbodenschutzes. Der Hersteller behalt sich vor, Design und
Konstruktionsdnderungen des Unterbodenschutzes zu &ndern.

YcnoBus npeaoctTaBnieHUA rapaHTUn.

3awmrta yctaHoBNeHa Ha aBTOMOOMWMb, C HENOBPEXOAEHHLIMWU CUNOBLIMW 3feMEeHTaMuM Ky3oBa W
KOHCTPYKUMK (aBTOMOBUNb, KOTOPLIN He ydacTeosan B 4 TI1);

OTCyTCTBYIOT MExXaHU4YecKMe MNOBPEXOEHUA 3awuThbl, NONYYEHHbIE B pe3ynbraTte Hae3ga Ha
NpenaTCTBUIE;

CobntoaeHbl Bce TpeboBaHNS MHCTPYKLMM NO YCTAHOBKE 3aLLMThl;

OTCyTCTBYIOT MEXaHUYECKME NOBPEXAEHNSA NOPOLLKOBOIO NOKPbLITUS;

lMpoun3BoanTenb He HeCeT OTBETCTBEHHOCTU 3a nobon yuiepd, NPpUYNHEHHbIM aBTOMOOUMIO, XXN3HN 1
300POBbIO NOAEN, B CryYae HapyLLUEHWS YCNOBUA YCTAHOBKW M 3KCNyaTaunm 3allmThbl.

MpounssoanTenb BNpaBe BHOCUTb U3MEHEHWNS B KOHCTPYKLMIO 3aLLMThI.

All products are certified
Alle Produkte sind zertifiziert
Bca npoaykuua ceptuduumposaHa

%Bﬁ\zatton for

RN
ISO - ISO
NSz

9001 TS 16949

/76

(7

e\>‘)®
/122\pY

\oternate,

)



